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Problem quickname: 4599

1
Insert the correct symbol, + or —.

a)d  3=1 b9 4=13 2 1=3 )10 4=14
)34  28=6 22  9=31 g) 43 3=46
h)18  9=27 )24 19 =43 D17 11=6

2)
Insert the correct symbol, + or —.

a) 65 54 =11 b)99 91 =38 )43 34=9
d)39 10 =149 )19  12=31 )31 21 =52
g) 90 52 =38 h) 52 2=54 H14 - 11=3
)19 18 =37

3)

Insert the correct symbol, 4+ or —.

)22 20=2 byd  3=T 4 2=6 12 9=3
e)5  3=8 N5 o 2=7 g) 14 10=24 h)21  13=28
)11 4=15  §)16  10=6

4)

Insert the correct symbol, + or —.

a) 5318 4130 = 1188 b) 5108 2370 = 7478

c) 660 163 = 823 d) 5109 3804 = 8913 e) 453 308 = 761
f) 2420 2395 = 4815 g) 3654 3590 = 7244

h) 4258 3828 = 430 i) 9209 7661 = 1548

j) 6283 839 = 7122

Good Luck!
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